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1 Case 1
1.1
1.1.1
1000
HRB235
| 0.150
\ HPB235
————— e 1.850
{ 7263.00 mm?
|
|
< I S
N \
|
|
|
|
—— T *****
|
b (mm) 1000.0
h (mm) 2000.0
(mm) 5000.0
A, (m) 157.00
o (N/mm?) 210
Aw(mm?) 628.00
. (\N\/mm?) 210
PC A (M) 628.00
fy  (N/mm?) 0
Y o 1.10
Y 1.00
NCkN) -—
N, (kN) ---
(yo Ny /N -
M(KNm) 2000.000
M.CkNm) 2884050
x(mm) 84.9
Yo My /M 2200.000
V(KN) 1000.000
Vo (kN) 3045.351
Vo VIy=) /N 1100.000

FORUM8



1.2
1.2.1 RC
No: 1
1.2.2
: C25
f. = 14.30 N/mm*  f. = 1.43 N/mm* E. = 2.00x 10* N/mm
HPB235
f, = 300 N/mm* Es = 2.00x 10° N/mn’
HPB235

f,, = 210 N/mn?
: bx h = 1000.0 mmx 2000.0 mm
:ho=h-a = 1850.0 mm
: M = 2000.000 kN m
: A, = 5655.00 mm’
Iy.= 1.10
I, = 5.00m

FORUM8



1.3

1.3.1

€y &
€ o = 0.0033 - (fcu,k - 50)x 10° = 0.0033 - (30 - 50)x 10° = 0.0035 > 0.0033
~ &4 =0.0033

(7.1.4-1)
B
Ey = lfy
1 +
B+ ¢
0. 80
= = 0.55
. 300
2.00X10°X0. 0033
@) X

(7.2.1-2)
a, f.bx="F A -Ff, A+ F, A + (0 "n-F") A%,
foA = 7,8+ £°A, + (0 017 ,) A,

— X =
(Xl‘f,v'b
300 X 5655. 00-300 X 1608. 00+ 0X  0.00+(8.00- 0) X 0.00
- 1. 00 X 14. 30 X 1000. 0
=84.9 mm
®3) H
84. 9
E = — = =0.046 = &, =0.550
hy,  1850.0
) M,
(7.2.5)

Mu = fpy Ap (h'ap'a.S)"'fy As (h'aS'a.s )+(0 .pO'f.Py) A.p (a.P'a.S)
0x  0.00x (2000.0- 0.0-150.0)+300x 5655.00x (2000.0-150.0-150.0)
+(8.00- 0)x 0.00x ( 0.0-150.0)

= 2884.050 kN m Y o M = 1.10x 2000.000 = 2200.000 kN m
0K
®)
p = AJ/A. = 5655.00 / 2000000.00x% 100 = 0.28 %
A :
A :
P nin = Max{0.20%,0.45 f/f,} = max{0.20%,0.21%} = 0.21% p

OK

FORUM8



1.4
@
7.5.1
ho/b = 4
Vie = 0.250x B . f. b hx 10°
= 0.250x 1.00x 14.30x 1000.0x 1850.0x 10°
= 6613.750 KN y o V = 1.10x 1000.000 = 1100.000 kN
0K
B.
@
(7.5.4-2)

Vu = Vcs + Vp + Vsb + Vpb

Vi - PC

) ( 1.75

A, .
'f"b'ho + fy\.+.h() XIO_J
A +1 S

1.75 157. 00
= | —————— X1.43X1000.0X1850.0 + 210X
0.983 + 1 100. 0

= 2944. 836 kN

X1850. 0] X 10°

Ao o W PN O HFBE AR O Ka i fE
s ¢ A ERA O RIkE

£, 0 HERAH OO 5| R TR B R FHE
Ao AW AU

V, = 0.05 Nyx 10° = 0.05x 800.000 = 40.000 kN

Npo =

Ve, = 0.8+f,* Ay sina X107
= 0.8X210X628. 00X sin 35.0X10" = 60.515 kN

Aw ¢ PTAVHERDY O BRAH O R E R
a. o Pravih Az v Bk ORCE 4

V. = 2944.836 + 40.000 + 60.515 + 0.000
= 3045.351 kN Y o V = 1.10x 1000.000 = 1100.000 kN
OK

FORUM8



2 Case 2
2.1
2.1.1
|
3000
HRB335
; 0.150
\ HRB335
******** . 2.850
! PC 1
1 0.300
} PC 2
‘ 2.700
| 10673.04 mmt
8 n_ S S
® |
i
i
i
|
ﬁﬁﬁﬁﬁﬁﬁﬁ ‘Tffffffff
|
b (mm) 500.0
h (mm) 3000.0
Bein (MM) 1666.7
(mm) 5000.0
A, (m) 314.00
v (N/mm?) 300
As (i) 314.00
. (N/mm?) 300
PC A (mm 314.00
fy  (N/mm?) 1110
Y o 1.10
Y e 1.00
NCKN) ——-
N, (kN) -
(vyo Nyw) /N ---
M(KNm) 4000.000
M.(kNm) 6580.279
x(mm) 63.7
Yo My /M 4400.000
V(KN) 1200.000
V.(kN) 4982.246
o (AT WAS 1320.000

FORUM8



2.2
2.2.1 RC
|
No: 2
2.2.2
: C30
f. = 14.30 N/mm*  f. = 1.43 N/mm* E. = 2.00x 10* N/mm*
HRB335
f, = 300 N/mm* Es = 2.00x 10° N/mn’
HRB335

f,, = 300 N/mn?
: bx h = 500.0 mmx 3000.0 mm
:ho=h-a = 2850.0 mm
: M = 4000.000 kN m
: A = 7363.11 mn?
Iy.= 1.10
I, = 5.00m

FORUM8



2.3
2.3.1
€Y &

€ o = 0.0033 - (fcu,k - 50)x 10° = 0.0033 - (30 - 50)x 10° = 0.0035 > 0.0033

- €& o = 0.0033

(7.1.4-1)
B
Ev = 1
0.002 fo=0 w0
+ +
£ Ee* € o
0.80
= =0.24
. 0.002 . 1110-7. 00
0.0033 2.00X10°X0.0033
@) X
(7.2.2-3)
a, T [b X+(b.f_b) h.f] = fy A - f.y A% + fpy Ap + (0 .pO_f.py) A.P
fooh, = £ N+ A + (070 - £7,)A, (b’ +~b) -h’ ¢
— X = —
aifoeb b

300X 7363. 11-300 X 3015. 93+1110 X 219. 20+ (8. 00-390) X 74. 80 (1666. 7-500. 0) X 400. 0

1. 0X14. 30 X500. 0
-720.9 mm h": = 400.0 mm b=0>b"

(7.2.1-2)
a, febx="%fA-F,A%+f, A+ (0 "Ff,) A%
fooh, = £ N+ f0A + (0 0 f ) A,

S ox =
o feb
300 X 7363. 11-300 X 3015. 93+1110 X 219. 20+ (8. 00-390) X 74. 80

B 1. 00 X 14. 30 X 1666. 7
= 63.7 mm

€)) 3

g = = 63.7 =0.02 = £,=0.24

he  2850.0

® M,
(7.2.5)

M, = F, A (h-a,-a")+f, A (h-a--a"; )+(o "-f",) A", (@%,-a";)
= 1110x 219.20x% (3000.0-300.0-150.0)+300x 7363.11x (3000.0-150.0-150.0)
+(8.00-390)x 74.80x (300.0-150.0)
= 6580.279 kN m Y o M = 1.10x 4000.000 = 4400.000 kN m
0K

500. 0

FORUM8



®

p = AJ/A. = 7363.11 / 2433333.33%x 100 = 0.30 %

As :
A :
p min

max{0.20%,0.45 f./f,} = max{0.20%,0.21%} = 0.21%
0K

p

FORUM8



2.4
€Y)

@

7.5.1
4<ho/<6 0.20 0.25
Vie = 0.207x B . f. b hx 10°
= 0.207x 1.00x 14.30x 500.0x 2850.0x 10°
= 4228.331 kN y o V = 1.10x 1200.000 = 1320.000 kN
0K

B

(7.5.4-2)
Vu = Vcs + Vp + Vsb + Vpb

Vi - PC

1.75 A i}
= “fieb+hy + f,,-—h,| X107
A+ 1 S

1.75 314. 00
= | ————— X1.43X500.0X2850.0 + 300X
0.702 + 1 100. 0

= 4780. 221 kN

X 2850. 0] X10°

At VBT PN OO R 8k AT 0D A F
s o OHFERAR O MK

£, 0 RN OO 5| AR TR B FR EHE
Ao AR A

V, = 0.05 Nyx 10 = 0.05x 1000.000 = 50.000 kN

Npo =

Vo, = 0.8:f,°A,*sina X107
= 0.8X300X314.00Xsin 35.0X10™ = 43.225 kN

Ao = Pravith s v Bk O R R
a. o Privah sV Bk O R E A R

Ve, = 0.8+f,*A, sina, X107
= 0.8X1700X160. 00X sin 30.0X 10" = 108.800 kN

s—»—cv
— =

A, : PCHiRf OFammfE
o, - PCHAMF OBLE A B

FORUM8



- 10 -

V. = 4780.221 + 50.000 + 43.225 + 108.800
= 4982.246 kN Y o V = 1.10x 1200.000 = 1320.000 kN
OK

FORUM8




- 11 -

3 Case 3
3.1
3.1.1
T
3000
HRB400
; 0.100
,,,,,, N p— HRB400
i 2.800
| HRB400
! 2.900
\ PC 1
| 2.600
Mo TR 26189.30 mm’
8 |
” |
|
i
|
1~
ZIICfCIIC
|
b (mm) 500.0
h (mm) 3000.0
Bein (MM) 3000.0
(mm) 10000.0
A, (mm 314.00
. (N/mm?) 210
A (i) 226.00
. (N/mm?) 210
PC As(mm?) 226.00
fy  (N/mm?) 1220
Y o 1.10
Y e 1.00
NCKN) ——-
N, (kN) -
(vyo Nyw) /N ---
M(KNm) 5000.000
M.(KkNm) 21221.842
x(mm) 104.0
Vo My /M 5500.000
V(KN) 2000.000
Vu(kN) 5970.267
o (AT WAS 2200.000

FORUM8



- 12 -

3.2
3.2.1 RC
T
No: 3
3.2.2
: C40
f. = 19.10 N/mm*  f. = 1.71 N/mm* E. = 2.05x 10* N/mn*
HRB400
f, = 360 N/mm* Es = 2.05x 10° N/mn’
HPB235

f,, = 210 N/mn?
: bx h = 500.0 mmx 3000.0 mm
:ho=h-a = 2850.0 mm
: M = 5000.000 kN m
: A = 21205.76 mm’
Iy.= 1.10
I, = 10.00 m

FORUM8



- 13 -

3.3

3.3.1

€y &
€ o = 0.0033 - (fcu,k - 50)x 10° = 0.0033 - (40 - 50)x 10 = 0.0034 > 0.0033
~ &4 =0.0033

(7.1.4-1)
B
Ey = 1
0.002  f,- 0.
+ +
£ cu Ee* €
0. 80
= = 0.24
0002 1220-7. 00
0.0033  2.05X10°X0.0033
@) X
(7.2.2-3)
a, T [b X+(b.f_b) h.f] = fy A - f.y A% + fpy Ap + (0 .pO_f.py) A.P
£ - N+ A+ (00— £, A, (b b)h,
— X = —
o f.ob b
360X 21205. 76-360 X 4908. 74+1220 X 74. 80+ (7. 00— 0) X0.00  (3000. 0-500. 0) X 400. 0
- 1. 0 19. 10X 500. 0 500. 0
= -1376.1 mm h*; = 400.0 mm b =b"

(7.2.1-2)
a, febx="%fA-F,A%+f, A+ (0 "Ff,) A%
fooh, = £ N+ f0A + (0 0 f ) A,

g =
ai-fe'b
360 X 21205. 76-360 X 4908. 74+1220 X 74. 80+ (7. 00~ 0) X 0. 00
B 1. 00 X 19. 10X 3000. 0
= 104.0 mm
€)) 3
g = = 101.0 0.04 = £,=0.24
he  2850.0
® M,
(7.2.5)

M, = F, A (h-a,-a")+f, A (h-a--a"; )+(o "-f",) A", (@%,-a";)
= 1220x 74.80x (3000.0-400.0-100.0)+360x 21205.76x (3000.0-150.0-100.0)
+(7.00- 0)x 0.00x ( 0.0-100.0)
= 21221.842 kN m Y o M = 1.10x 5000.000 = 5500.000 kN m
0K

FORUM8



- 14 -

®

p = AJ/A. = 21205.76 / 2900000.00% 100 = 0.73 %

As :
A :
p min

max{0.20%,0.45 f./f,} = max{0.20%,0.21%} = 0.21%
0K

p

FORUM8




- 15 -

3.4
€Y)

@

7.5.1
4<he/<6 0.20 0.25
Ve = 0.208x B . f. b hx 10°
= 5647.631 kN
OK
B
(7.5.4-2)
Vu = Vcs + Vp + Vsb + Vpb
Ve :
Vcs
V, 1 PC
Vsb
Vi PC

1.75 A, )
Ves = «fib+hy + fy,o—-he| X107
A+l

1.75 314. 00 i
= [—————— X 1. 71X500. 0X2850.0 + 210X X 2850. 0| X 107
(0.246 +1 125.0
= 4926. 894 kN
ZZlZ
At WP OO #5817 O 6 i Fl
s OBk ORIk
£, 0 B O 5| kR R
A HAMT AN
0.3 f. A, = 0.3x 19.10x 3292839.50x 107

Npo =
A :

Ao

0.208x 1.00x 19.10x 500.0x 2850.0x 107
Y o V = 1.10x 2000.000 = 2200.000 kN

18867.970 kN < Ny = 30000.000 kN Npo = 18867.970 kN
V, = 0.05 Nyx 107° = 0.05x 18867.970 = 943.399 kN

S

A+n (A + A, +A)
2900000.00 + 15.00x (21205.76 + 4908.74 + 74.80) = 3292839.50 mn’

FORUM8



- 16 -

Ve, = 0.8, Ayrsina X107

= 0.8X210X226.00Xsin 42.0X107 = 25.406 kN

yy&v
— (e

Ay -

(07

Pravih 23 0 R O HERE

ATAL S O B O E A

Vy, = 0.8:f,*Ay sina, X107

= 0.8X1700X 85.30Xsin 40.0X10™ = 74.569 kN

»>&,—
— e

Ay

a,

© PCHAA D mifk
: PCERIBA oD BL & 4 i

V., = 4926.894 + 943.399 + 25.406 + 74.569
= 5970.267 kN Y o V = 1.10% 2000.000 = 2200.000 kN

OK

FORUM8



- 17 -

4 Case 4

4.1
4.1.1

1500

AREJ00
0.100

r (mm) 750.0
(mm) 5000.0
A, (mm?) 157.00
. (N/mn?) 210
As(mnt) 0.00
. (N/mm?) 210
PC Ay (mm*) 0.00
fy  (N/mm?) 0
Y o 1.10
Y 1.00
NCkN) -
N.(kN) -—
(Yo Ny /N -
M(kNm) 1500.000
M.(kNm) 1731.655
x(mm) 159.0
(Yo My«) /M 1650.000
V(KN) 800.000
Vu(kN) 2293.666
(Yo VIYw)/V. 880.000

7539.82 mm?

FORUM8



- 18 -

4.2
4.2.1 RC
No: 4
4.2.2
: C35
f. = 16.70 N/mm* f. = 1.57 N/mm* E. = 2.05x 10* N/mm
HRB400
f, = 360 N/mm* Es = 2.05x 10° N/mn’
HPB235
f,, = 210 N/mn?
r =750.0 mm

: M = 1500.000 kN m
: A, = 3769.91 mm’
Iyo.= 1.10
I,b= 5.00m

FORUM8



- 19 -

4.3
4.3.1
€H)
o o“-f(.-A-(listTC “ )+(aa\)'f;As =0
T O
o X 1. 00X 16. 70X 1767145, 87 X 1—% >+(aa\)><360><7539.82 =0
- a =0.211
A
As :
)
rs :
a 21
o, :
o : a.=1.25 - 2a
a >0.625 a.=0
@ M,
(7.3.8-2)
2 sin’ 7 « sinwt a+tsinm «.
M, = —a, forhr ———— + f, A1,
3 T T

sin’( 7z X0.211)

2
Y X1.0X16.70X1767145. 87X 750. 0X

7T

sin0. 211 = +sin0. 828 &
+ 360X 7539. 82X 650. 0X

7T
= 1731.66 kN m Y o M = 1.10x 1500.00 = 1650.00 kN m
0K
®
p = AJ/A. = 7539.82 / 1767145.87x 100 = 0.43 %
As
Ac
P win = Max{0.20%,0.45 f/f,} = max{0.20%,0.20%} = 0.20% p

OK

FORUM8



- 20 -

4.4
@
7.5.15
b =1.76r he = 1.6r (r = )
7.5.1
ho/b = 4

Vie = 0.250x B . f. b hex 107

0.250x 1.00x 16.70x 1320.0x 1200.0x 10°

6613.200 kN Y o V = 1.10x 800.000 = 880.000 kN
0K

B

&)
(7.5.4-2)
Vu = Vcs + Vsb

Ve :
Ve
Ve =

) ( 1.75

A, .
'f"b'ho + fy\'.+.h() XIO_J
A +1 S

1.75 157. 00
= | ———— X 1.57X1320.0X1200.0 + 210X
1.420 + 1 100. 0

= 2193. 666 kN

X1200. 0] X10°

Ao o W PN O HFBE AR O Ka i fE
s ¢ A ERA O RIkE

£, 0 HERAH OO 5| R TR B R FHE
Ao AW AU

Ve = 0.8:f,* Ay sina X107
= 0.8X210X 0.00Xsin 0.0X10™" = 0.000 kN

Aw ¢ PTAVHRZDN O BRAH O HAR
a. o PrivEh Ay v Bk o R E A R

V, = 2193.666 + 0.000
= 2293.666 kN Y o V = 1.10x 800.000 = 880.000 kN
OK

FORUM8
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